1
(H = 8 F
1
1
1
:(ﬁ #
1
1
:(?ﬁrﬁﬁ%i
1
1
OH )i
1
1
NE k@
I
TN =
I
Vi i
I
VO s =
I
& w
I
1
(X ® OB
1
1
1
(RS =
1
1
1
:(ﬁQﬁéEﬂ
1
1
(G N 53

C/ANRR I3 —

(J& 5255 4

I
WCNETRB

2

4

) 4

) /¥ H R FE

@l i) B oo
(K # W A)E B
(4 ) % &

50kgik

2 X1 % 26 {5 Bk w
2 as — & 1-52
B X 2— e A ® WK
2-3 —* 1-35
#Z H) 3 ., 1-72 L— 2tk & B 7
£ 4 29/ JIl 8
2-50 1-53
HK 5 —_x we— 30 K E B
2- % — 1-36
E Fﬁ 6 —— 2- HHY 1-82 — 31 E mﬁ ﬁ %1
= K7 ] RFE O KX
2-51 y as| 1-54
B8 — 4 ki — BB K
—%
9 1-37
B — o . JE= -* s BRI 34 BY L W — R
10 s BH B EIE
PR ok 1-55
Mon—_ —3%d X 7§ E
2- — 1-38
A BB 12— H—an R B =
2*84—|ﬁ|1*87
5-96
F Ao - 2 wE B &
2-5, ¥ 1-56
HE 14— e TR
2-3 1-39
o s—F 2 _x - = L w0iE#% K&
% 16 |— HHY| 41 *E H l_]:t 7’3
2 &Y 1-57
K 17— 4 AR E R K E R
2- 1-40
BE 18 —— 2-8 A — 43 K B ¥ E
1-83
' £ 19 ] “ue R EH
z —% Y 1758
B 20— 4 | —— 45 % L&
2- A 1-41
* B 21— F—wTLE A
2-7. 1-75
22— 4 A— 47X H BA
2-40 1-42
—%
B B 23— —— 48 E B K ZE
2 1-59
B 24—y — o & B @
2-4 —* 1-43
B A 25— —som x X &
<BLRFEH>
#H(XE—) 28 "
BE GsE# P
= ERAREIRE |
WiE R P I

Qe

(BHEA+ =)

(¥ 25 )11 AT %2 )

QeSS

A

I

5

B

i

(%

N

=

PN

(&

a3

u

i

[l

=
4
iT:|

Em
P



|
(it [
]
]
A %
|
VO R g
|
QR T X =
|
E + 4
|
]
| (s i
]
]
I i
|
(W kR R
|
Lk it
|
(% m o
|
]
(%
]
]
| (SCBOREI
|
NI A
|
(s 1t
|
(SR
]
]
]
TN
]
]
' E
]
]
RN
|
LR 1%
|
| &
|
]
CE =
]
]
I EY
|
' m
|
VB 5
|
TR s
]

&
B H OB K2
A H OB K3
HOE ft o4
A | & 5
B T B s
R B
wE  Es
T #E BT
B2 fFE 0
oI B K BB 1
R M A 2
B H KFI3
#HE B4
FEARA BES
F B K A6
=Rl £ 17
# B R 18
MAR KA
FEE—-—H2
=B I
B]RE 322
ZHEKXB2
® H ¥
2 B HE2s

55kgfk

- A6 E R R
4 % 3-48
- —— 27 BRARK
4 3-29
. aes TR 28 /v F R
B !
29H H E
4 % 3-49
_ - =
» WHE R R
430 a3 - 3-30
583 4 —x  mHy 3-78 iy S— 31/ Il E
x _4] 32 R K
4-50 3-50
- A B K &
4-31 331
4 EHY 3-69 MEHF H &
- BEBFE R
45 =& A 3-51
- 36 JI| I
43 —& 3-32
——31 K B
4-83 —Hs g3
5-97 -
_4l BK BB F
4 % 3-52
 Jos S
PP S N 3-33
- - 3-70 TH 40 & + ﬁq
- sl “aF B B
45 =& 3-53
—_ A—REH H
" 3-34
R 47 L B E H 3
3-79
1) — “xE
454 x 3-54
A 45 B
4~ 3-35
—_% ——46 FE B I
471 % 3-71
—_ e
" . Ci 3-36
—— 4% @ A
4 % 3-55
—— 49 [ BB ¥
a3 3-37
ez 50 E H
< SfLRFEHE>
) A
B ey
sof— MEARHEINRE |
XE (B A

BE

K

&

il

3

s

L3

(/N2 =
(R KFns —
(x

i)

(% a

( BIEL BT AL )

(f&

[l



)]

N

4

s
B

A

3
4

T

L

il

iL

E:s

EREREN

=

a %:J‘i': 1 — % —=|
4 ﬁM_J
b= MWo2 ——
.-
X M 3 —_— . 3-72
JIfE X BB 4
4-5
1’t 1% K 5 =gz
4 —* —3
O A — ——13-80
g B —% —
4 2
H R 8—_4
.-
ﬁ % *E 9 —— 4-T7. —* 3-73
fil X 10
IJ-I ﬁt E.‘ 1 __z;
4t e —K
B Rt 12— as
4—84—|ﬂ‘3—84
5-98
A % F13 % -
H R O14—
& fhos—ITE x e
4-6 —&
H =& B 17—y
4-4
# = 18— —*
&% 3-81
KEE KX BB 19— %
4 =
% & 20—
s a3
moEAa—I*
4- el 375
B K 22—
4 5
B & X23—
4-6 —
2 Bau—
4 —]
T OmE— BR 25—
< BfLRTEE>
(X a8
BE | ] P
aE e Py | BRASEINEK H

60kg#k

B

g

B

#

1

i

>
7

jui3

®

&

b

®

( BEpEAFIL )

5

(RKRMfE =)

)

(M TS )

i)

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
Bl )R
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|



66kgik

5-99

4] 26 & )il #
wz[
_x—— 21 B B 8h
33
75 21k B R
29 = By g
my— 30 £ F #E =
G 34
87 L— 3 E B =
—] R BH #H
53
——33 K #t
35
—* 76 A g B A
—&| 35 EF H IE
L2 I P
3%/ L R
36
—— 37 K H &
5-93
_;‘;' 38 EP *q *D
a9 ”
o —— 3% M@
37
n K WwE B X
_;‘;' 41 H- IEI 5{5\
——42 @ b
38
H— B =
Eﬁl—s—es
_;‘;' 44 ﬁ& ﬁ ﬁ
57
——45 F I 7
39
ok B %
G 78
A4 B
—— 48 B T B
_* 4
——49 B B B
G 41
H—som 7 B

I I
oA o) B OB R %
- 0 —%
P REE+=E) Z B KB 2 —
b 6-31
I I
DOVCHE RS ) R R B3 —— e
ri
e W) B B E K 4
Vo 6-5
DB B ) R KRB M 5 ——
I I
| I 6-32; =
I I
e ) A B — 6 —F C
I I
I I
DGR ) RFIEER T %
I I 6-5
I I
:6:(Jxﬁ<$@>m¢ s —
Lo 6-3
S W) B H KM 9t 70
-
V(R R oW L) R O &0
- 6 —*
I I
Dol o D) B R g o
[ 6 =Pl
I I
S )l ok & 12—
: : 6-91
BiomE & o) W& dt 3 13 -
Vo 65 x
e AR T OE—
- o
D% E i) KR Eis— e
-
I I
! :(Bﬁiﬁ%’~>ﬁiﬁfétﬁﬁm
[ 6-5
I I
sk T M E— B 1T—
[ o —&
I/E'\I
N 2 T F R W B 6
-
DOLCIE R N ) B B 1o %
- 6
I I
: :(HQHIJJA%*)J? B 20 =4y
| I 6-3
I I
! :(% o) oA F o2 —
[ 67 —k
I I
e W) tE B OE 22—
[ o LB
[ —K
e ) BERANHB—
[ —&
I I ?
TG T LTINS S g p—
- o
[ . _%
(= s N ) E OB F 25—
I I
< BRLRTEEK >
) Al
FR (Et5) e

ol— MEXSBINE |

St

K

it

5

il

o)

=

(2

( i

)

(/A I 5 =)

( & )

(B 5 =)

i

(HT M

o)

(% m % &)
1 )
)
# )
=)

=)

")
(/8 R
(X % —)
(M T(EE )
( i i)
(B & H —)
(RKFH )
S )
iE)
i)
( s )

(&

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
:
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
:
1

[N

1

5%

5

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
:
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
Al
=
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|



7 3kefk

- -
O ) A BB ——— — % % B (0B E RO
| I 6-5 59 I \
I I had I 1
Lo E H)OE £ Mt 2 — ——27 W Nl M (- 2 %I): |
Do 640 —* " .
i i(#:)z ) E K B 3—d F o e 8 F K 4‘—3%(#%%:)5 E
|ﬁﬁ| L
I ] Ef =) = - I 1
s R ) EH M4 A 2B B K (REFHL)
: : 6 —x — & 60 : :
[ . [
| :< WATE ) B ME B WS —m A3 /M HE R F (ESEARL),
- 6-4 —* 43 (|
[ s 5 Do
::<JE%W>{E,#E B E 66— 6-8 8 ——aEH B B & (F ¥R,
| | I 1
o e e = 2 = o
| :(41— HE5) R #H BT —— A2 R HEZN (@ IR
| | 6 61 ! !
| | I 1
|1 W) & F B E8— AR MK (F B1
o FOTI— “ 151
| | I 1
o % 53 -
G B)KM MR 9 — o7 BBy ) WE A R (i W1
| | I 1
| | I 1
A w058 B B 10— a3 AL B (0 A DL
o 6-6 —X BHY 6 [
[ s [
. ) = o . -
e )= B — 1 — —— 36k kB (RUM I
[ 6-4 Epl . [
I I e I 1
Lo AN B E E 12—— H—yxr B FH (& M
: : e—92—|—f§§ 5-94 : :
L o . 5-100 o
:uﬁ:< B+ @) B KR B—— 4 S8 {E A RRAER (BRI TR ) W
[ 66 HHY —% 63 [
| | B _ I 1
| :(/k ) K B OER th 14— " 9K & MW (& )
Lo 6-4 —%| 4% [
b - — T . = .
| :<,. JIE — ) B B 215 67 % 81 R B B X &)
| | I 1
[ o oA _ ) = Do
| :(KR% ) B B K — 16— ———a B FE (LK R )
o 6-6: 64 (I
[ . _ . [
| :<m AR TR S 11— 2R K B} (K %))
N 6 % 47 bt
v e —& - A
Ok kDB K% B K 18— 6 L —sm #  E(Kk&E A
o A 35 o
I I . I 1
O ) B K L I A S I
. 66 a3 8 b
LA K E Wm0 —as A B RO B
[ 6 o [
I I s I 1
s 3 g —
O AR B N R A 2 T L It
o 6-80! —* 82 Do
I I © I 1
B AR B B2— — B A CE KOt
I
: : 6-4 —x 49 | :
| V(R 5 - — 1 B I \
| :<#t¢ﬂa€4)ll\ % 23 —— 45 R # ﬁﬂmrm@:): !
—&|
[ v 66 [
[ 3 A L i .
| :(ﬁi@ﬁﬁ%ﬁn)it B 2a— e wEE BE(E )
L 6 —%| 50 [
[ . — = (I
| :<mr1ra%4>h='aaa B K 25— L —sotp B MM (® =@ F) !
_ _ 1
< BfLRTEH>
=8 s A%

Wl (BA2E) o 6‘”'?“ BHEAEHEIRE ”




I I
Porcn B E ) BB X W -
Vo 25 .
Vo CHEEENE ) B B R B 2
) .
I I
RS M) E B 5 W 3
I I
I I 9.
I I
LR k)RR BB — A
: : N — & HHY a4
DolCmEE ) B @5 —I N — —
|
I I
PoCH A E ED) R R % 6 % T
: : 2 —% 1-62
200 = FORE —E 7T —_4 -
: : 2-4 1-45
I I - — &
o A)E B H j;xt 8 — 2- 77 L
I I
I I
I I
: :(Dk%:)ﬁ?EKEHSB g2
L 2 ) —
COCRAREEE) KB OB A 0— —
: : 2 2-85 =& g5 G 1-46
[ _ 5-101 %
DoCh )l ) £ EEER 11— —
i
Lo WM OE O — 12 %
: : 2-61 et 164
I I
CO(REHLIES )R B OB B 13 A
I I
: : 2- p. —* 1-47
: :( Fii ) E B 14 1 —11-78 L
o N —K
I I
LG E O R e E 15— _;ﬂ____
: : 2 G 1-65
I I
BN Ch G gE B R R e— A
: : 2-8 i85 1-48
LT E Bl — & —x —
: : 2-6:
I I
! :(f% W)= @ 18—
I I 9.
| I CLS
Lo E)BB AR A 19—IF o
|
LA )% B £ B
I I
[ 2 -
I I
DONCE B ED K W B A 2 —— — 43 {F
: : 2-4 —* by 1-67
LR Fm) B 75 a2 — A
ol A 1-50

< BHLRFEE>

o e ) A ——
sl MEARBIRE |
e (5@ e

81ke#k

— 23 §] &

B K

27 H ERX

%% F E R
2%/ R Z &
27 W OB K
2BEHXZEH
29 & H 5h
30@ I &
3R K B K
B E FHE
KXI NI S B
“EH BB BRAE
35 Bl B M
% # B K #
I REBEZB
3BE M KB
39 1L K R b
&

X &

" %

BOE
44 T — B
s K F O -

(® + #)
(fx 9T % W)
(HF 3 ff)
(s )
(3 W % W)

(A LEE =)

(ol [ i bt I )

(i W)
(v B o)
(% = 8 F7)
I
(& 3
|
I
(H o)
I
|
CHi % )|
|
(# )
|
I
(R A& % @)
|
(R H )
|
I
(I )
|
(7 7 fE )|
|
(31 IE):
|
I
(ZE-mm)!
|
(i ),
|
(2 )
I
I

|



90kgih

AT T T T T - " P ~ T Tt T ot R - " ~- T P P P —~
i % & @ : = IL = ' I S I 1l = = 4 =
< 2 H N ﬁ _x = 8 ® = ) ®

mw I | % & \w & Jing
uz # < i) H 1 ® B 5o X ¥ | i X Ra o ]
= = - = - _ = = ooz = = = = - = - =
= g i = ®] & B K & | = = & K £ # i =4 S
& # K 1 K ® IR No,OR 4 i o | fal - %
® £ & 1 = . €
X = i m o 1 I H ¥ | = # i = K m o i
K fu K B #io ;2 LI = & 22 = IR o iy « K £
> 5] b u Q N Q g 5 )08 2 g 5 8 ] 3 9 g
1
" :
° 2 ° " 0 ° - w B
i i £ ¢ g g § K
— — — 1 o o~ o
b _ g % b 5 . =¥ it = ¥
i 7 ! % T
_ R - ¥ % _| N ¥
L b I I B I
¥ - iy
| o il
£3 |
_ I S
b ®
|
b E b
N o0 @
% bt * # $ %
Jz | . | |
* T ® Tk ! * T * T %
| K | | 1 | | | |
1
bS s bs & % _ X g 0 g *
| | |
< | <
| 2 b
- ~ ® - © © ~ © > 2 = o o ai © e = ®
Ll H Ho : ® = R o W K X ] S & S hY 1o
o i B & K | 2 o e a @ w 2
) ® ! s
N —_ WE
* % & t K = i = g ' H o =l ¢ I £ e : =
i e 4 i Il IR X " B X & 3 o e 10 4 =
—~ — —~ —~ —~ —~ —~ — —~ 1 — —~ —~ —~ —~ —~ — —~ —
In. i I @ m 1 =® ® O = 3 s = N B & =
& & ® kS ® H i L + # 8®
0 - ° N = ® # & = y
1] a0 = = 8 & ® ! i e = H
&® £ H < .x i + m B W 2 & K = & = fr E
= = z D z - = - ooz = = - = = - z =

<3 RFH>

BERASEIREK

23

6-100)

3-85
BE

1-89
ME

AR (+&£ELR)

FEI (XFE-)




(X ® )HE

I
V(s )
1
|
= EE ) A
1
|

|

%:(?’EJH % OH) 8
|
1
VORI E
1
|
@ B S
|

6I
1
1 BEBATIL ) 4
1
|
1
O W B B
1
1
1
VO g ) A
1
|
VCE b A #
1
|
LR k)
1
1
1
1
1
1
1

(B X% )5

SMEZ) A

il

CHRF o5 R I

( # B )

(R B m)#H

_________________________________________ _-é¥_ _________________________________________

9O0kg#B#R

oo — — BB B
o — & — %] 67
v B E % 2 — el
6-81—y_ [ X
T KB 3— - 197 Bk
B K 4 = L—20%& & X
6 —x 5-91
5 ;ﬁms—E A2 E #
6-67 69
#h B 6 — 2 Hk A
N ® R 71— a2 1L B #
)
6 —* Y 5-70
B £ #hs—"F | L—2udt A #
6—935% 5-95
5-103
E ﬁ gﬁ 9 _'Z:%Q ST 25 % “I f'g'
o — & 5-71
B R K 10— 354 H K
6-83 - 85
OB — - 27 [ B
6—70’— —* 5-72
B S 1 e—F s 0O i
6-90l—dI "% 5-92
M AV EFEHE
_x 5-73
# KRN 3
EEL_ s g
% A3 E
5-74
T — a2 g &
< BfLRTEE >
TR S %
o —|ERASEIME
HEH (BAKXPEH) p

BE (3¢ ot %8
ho(E o
2 QA
& (A % %
= (R

K (K

#E +
(K

B (

(S
A (% =/
NG %
B (W oKk
(= z
B

(W oW

il

S

-

Tl

I
1

=
bl



